Adding Decimals to Thousandths (A)

7.986 + 7.456 =

3.649 + 1.239 =

8.039 + 1.800 =

9.739 + 4.819 =

5.140 + 3.747 =

7.096 + 1.093 =

4.754 + 4.567 =

7.361 + 3.056 =

5.225+ 1313 =

9.409 + 1.067 =

Calculate each sum.

7.136 + 2.845 =

9.023 + 8.462 =

6.445 +5.772 =

6.286 + 4.736 =

7.087 + 5.451 =

9.979 + 8.247 =

4.682 + 4.488 =

9.112 + 2.017 =

6.068 + 3.176 =

9.655 + 4.300 =
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Adding Decimals to Thousandths (A) Answers

7.986 4 7.456 = 15.442

3.649 + 1.239 = 4.888

8.039 + 1.800 = 9.839

9.739 + 4.819 = 14.558

5.140 + 3.747 = 8.887

7.096 4 1.093 = 8.189

4.754 + 4.567 = 9.321

7.361 4 3.056 = 10.417

5.225 +1.313 = 6.538

9.409 + 1.067 = 10.476

Calculate each sum.

7.136 4 2.845 = 9.981

9.023 4 8.462 = 17.485

6.445 + 5.772 = 12.217

6.286 + 4.736 = 11.022

7.087 + 5.451 = 12.538

9.979 + 8.247 = 18.226

4.682 +4.488 = 9.17

9.112 +2.017 = 11.129

6.068 + 3.176 = 9.244

9.655 +4.300 = 13.955
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